74. CHALLENGE Under certain conditions, the wind speed s (in knots) at an
altitude of h meters above a grassy plain can be modeled by this function:

s(h) = 21n (100h)

a. By what factor does the wind speed increase when the altitude

doubles?
b. Show that the given function can be written in terms of common
logarithms as s(h) = 2 (log h + 2).
loge
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__QUIZ for Lessons 7.4-7.5

Evaluate the logarithm without using a calculator. (p. 499)

1. log, 16 2. log; 1 3. log, 8 4. log,,, 32

Graph the function. State the domain and range. (p. 499)

5. y=1log, x 6. y=Inx+2 7. y=log,(x+4) -1
Expand the expression. (p. 507)
4
8. log, 5x 9. log, x’ 10. In 5x)° 11. log, 6);
X
Condense the expression. (p. 507)
12. log, 5 — log, 20 13. In6 + In4x 14. log, 5 + 3log, 2 15. 4lnx—5Inx
Use the change-of-base formula to evaluate the logarithm. (p. 507)
16. log, 10 17. log, 14 18. log, 24 19. log, 40

20. SOUND INTENSITY The sound of an alarm clock has an intensity of I = 10~*

watts per square meter. Use the model L(I) = 10 log IL’ where I, = 1072 watts
0

per square meter, to find the alarm clock’s loudness L(I). (p. 507)
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